T PERTT
XEEOSRERERE
XItEBEHRS=E  KERREAT

F@% BHE £ x5 B4 100AT

ma B | EEEEGKR)
iR 1p3W BHE ==, 73 EFa(/)\BL-ABF8) 2P 100AT/10P E#E1.6T 1% 1,348
iz 1p3W BHE £, 2 EFa(/)\BL-ABF8) 2P 100AT/14P E8E1.6T 1% 1,521
iR 1p3W BHE ==, 73 EFa(/)\BL-ABF8) 2P 100AT/16P E#1.6T 219 1,598
BB 1p3W BHE ==, 2 EFa(/)\BL-ABFE) 2P 100AT/18P £ 1.6T 1% 1,682
iR 1p3W BHE ==, 3 EFa(/)\EL-ABF8) 2P 100AT/22P E#E1.6T 21$ 2,071
BB 1p3W BHE ==, > EFa(/)\BL-ABFE) 2P 100AT/10P H#&E1.2T 1% 2,779
IBzE 1p3W BHE ==, 3 EFa(/)\EL-ABF8) 2P 100AT/14P B#E1.2T 1% 3,243
R 1cp3W BHE £, 2 EFa(/)\BL-ABF8) 2P 100AT/16P HiE1.2T 1% 3,474
IBzE 1p3W BHE ==, 3 EFa(/)\BL-ABF8) 2P 100AT/18P EH#E1.2T 219 3,937
R 1lp3W BHE £, 2 EFa(/)\BL-HEF8) 2P 100AT/10P E8E1.6T 1% 1,348
IBzE 1p3W BHE ==, 2 EFa(/)\BL-HEF8) 2P 100AT/14P Ei#E1.6T 1% 1,521
R 1lp3W BHE £, 2 EFa(/)\BL-HEF8) 2P 100AT/16P EiE1.6T 1% 1,598
IBzE 1p3W BHE ==, 2 EFa(/)\BL-AEF8) 2P 100AT/18P Ei#E1.6T 1% 1,682
R 1cp3W BHE £, 2 EFa(/)\BL-HEF8) 2P 100AT/22P EiE1.6T 1% 2,071
IBzE 1p3W BHE ==, 2 EFa(/)\BL-HEF8) 2P 100AT/10P E#E1.2T 1% 2,779
iBzE 1lp3W BHEI = D EF(/NEL-HEFE) 2P 100AT/14P Hi#E1.2T 219 3,243
B8z 1o3W BHEI R D EFE(/\EL-iEF8) 2P 100AT/16P B 1.2T 219 3,474
iBzE 1lp3W BHEI = EFM(/NEL-HEFE) 2P 100AT/18P HiE1.2T 219 3,937
IBzE 1p3W BHE <=, 7> EFa(ABF8) 2P 100AT/10P £i#1.6T 1% 1,348
iBzE 1lp3W BHEI-=Z( 5 EF5(FA%E) 2P 100AT/14P EiF1.6T 219 1,521
IBzE 1p3W BHE <=, 7> EFa(AB%8) 2P 100AT/16P £i#1.6T 219 1,598
iR zE 1lp3W BHEI-=Z( 3 EF5(FA%E) 2P 100AT/18P EiF1.6T 21$ 1,682
IBzE 1p3W BHE <=, 7> EFa(ABF8) 2P 100AT/20P £3#1.6T 219 1,983
iR zE 1(p3W BHEI-=Z( 3 EF5(FA%E) 2P 100AT/22P EiF1.6T 21$ 2,071
BB E 1p3W BHE <=, 7> EF5(AB%8) 2P 100AT/26P £i#1.6T 1% 2,375




BRzE 1p3W BHEIRU > EFE(AAFE) 2P 100AT/30P EiF1.6T Rl 2,568
BRZE 13W BHE R EFE(ARFE) 2P 100AT/34P R E1.6T 219 2,849
B8%= 1p3W BHEI R EFE(BR%E) 2P 100AT/38P & 1.6T R|$ 3,042
BRZE 1p3W BHE R EFE(AH7E) 2P 100AT/10P &#2.0T 219 1,502
B8%= 1p3W BHEI R EFE(BR%E) 2P 100AT/14P R&#2.0T R|$ 1,694
BRZE 1p3W BHE R EFE(AH7E) 2P 100AT/16P F&#2.0T 219 1,786
B8%= 1p3W BHAEI R EFE(BR%E) 2P 100AT/18P R&#2.0T R|$ 1,887
BRZE 1p3W BHE R EFE(FHFE) 2P 100AT/20P &#2.0T 219 2,218
B8%= 1p3W BHEI R EFE(BRFE) 2P 100AT/22P R&#2.0T R|$ 2,325
BRZE 1p3W BHEL R EFE(AH7E) 2P 100AT/26P F&#2.0T 219 2,657
B8%= 1p3W BHAEI R EFE(BR%E) 2P 100AT/30P &#2.0T R|$ 2,888
§82E 1p3W BHEL-RI( 73 E75(HA7E) 2P 100AT/34P &i52.0T H1$ 3,196
B8%= 1o3W BHAEI R EFE(BR%E) 2P 100AT/38P &#2.0T R|$ 3,504
B8k 1p3W BHEL R /3 E75(HA7E) 2P 100AT/10P H#51.2T 219 2,779
B8%= 1o3W BHAEI RN EFE(BR%E) 2P 100AT/14P H#E1.2T 219 3,243
§82E 1p3W BHEL-RI( 73 E75(FA7E) 2P 100AT/16P B8 1.2T 219 3,474
B8%= 1o3W BHAEI R EFE(BR%E) 2P 100AT/18P H#1.2T R|$ 3,937
§82E 1p3W BHEL R 73 E75(HA7E) 2P 100AT/20P H#51.2T 219 4,400
B8%= 1o3W BHAEI RN EFE(BRFE) 2P 100AT/22P H#1.2T 219 4,748
B8k 1p3W BHEL-RI( 73 E75(HA7E) 2P 100AT/26P H#E1.2T 219 5,674
B8%= 1p3W BHAEIRI 7 EFE(BR%E) 2P 100AT/30P H#1.2T R|$ 6,600
§82E 1p3W BHEL R /3 E75(FA7E) 2P 100AT/34P B 1.2T 219 7,527
B8¥= 1o3W BHAEI R EFE(BR%E) 2P 100AT/38P H#E1.2T 219 8,452
BRZE 1p3W BHEL R EFE(FE78) 2P 100AT/10P EiE1.6T 219 1,348
BREE 1p3W BHE RN EFE(FE78) 2P 100AT/14P EiE1.6T 219 1,521
BRZE 1p3W BHEL R EFE(IE78) 2P 100AT/16P EiE1.6T 219 1,598
BREE 1p3W BHE R EFE(FE78) 2P 100AT/18P EiF1.6T 219 1,682
BRZE 1p3W BHEL R EFE(HE78) 2P 100AT/20P EiE1.6T 219 1,983
BREE 1p3W BHE R EFE(HE78) 2P 100AT/22P EiE1.6T 219 2,071
BRZE 1p3W BHEL R EFE(IE78) 2P 100AT/26P EiE1.6T 219 2,375
BREE 1p3W BHE R EFE(KE78) 2P 100AT/30P i 1.6T R|$ 2,568
B8ZE 1p3W BHE R EFE(FEF8) 2P 100AT/34P F#E1.6T |9 2,849
BREE 1p3W BHEL R EFE(IE78) 2P 100AT/38P i 1.6T 219 3,042
B8EE 1p3W BHE R EE(FEF8) 2P 100AT/10P FE#&2.0T |9 1,502
BREE 1p3W BHEL R EFE(IE78) 2P 100AT/14P Ei52.0T R|$ 1,694
B82E 1p3W BHE R EE(FEF8) 2P 100AT/16P FE#E2.0T |9 1,786
BREE 1p3W BHE R EFE(FE78) 2P 100AT/18P EiE2.0T 219 1,887
BRZE 1p3W BHEL R EFE(FE78) 2P 100AT/20P Fi52.0T 219 2,218
BREE 1p3W BHEL R ERE(FEF8) 2P 100AT/22P EiE2.0T 219 2,325
BRZE 1p3W BHE R EHE(FE78) 2P 100AT/26P EiE2.0T Rl 2,657




BREE 1p3W BHERz( B (HE4E) 2P 100AT/30P &2.0T Rl 2,888
BREE 1p3W BHEI R0 E A (HEHE) 2P 100AT/34P &#2.0T 219 3,196
BREE 1p3W BHE R EFE(FEF8) 2P 100AT/38P &iF2.0T R|$ 3,504
BRZE 1p3W BHE R EFE(IE78) 2P 100AT/10P H#1.2T 219 2,779
BREE 1p3W BHEL R EHE(FEF8) 2P 100AT/14P 5 1.2T R|$ 3,243
BRZE 1p3W BHEL R EFE(IE578) 2P 100AT/16P B 1.2T 219 3,474
BREE 1p3W BHEL R EFE(FEF8) 2P 100AT/18P HiE1.2T R|$ 3,937
BRZE 1p3W BHE R EFE(IE78) 2P 100AT/20P B 1.2T 219 4,400
BREE 1p3W BHE R EHE(FEF8) 2P 100AT/22P HIE1.2T R|$ 4,748
BRZE 1p3W BHE R EFE(IE78) 2P 100AT/26P B 1.2T 219 5,674
BRZE 1p3W BHE R EFE(FEF8) 2P 100AT/30P HiE1.2T R|$ 6,600
BRZE 1p3W BHEL R EFE(FE78) 2P 100AT/34P B8 1.2T H1$ 7,527
BRZE 1p3W BHE R EFE(FEF8) 2P 100AT/38P HiE1.2T 219 8,452
B8k 3p4W BHEL-RT( /3 E75(HA7E) 3P 100AT/11P & 1.6T 219 1,444
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/15P & 1.6T R|$ 1,799
B8k 3p4W BHEL-RT( /3 E75(HA7E) 3P 100AT/17P & 1.6T 219 1,998
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/19P & 1.6T R|$ 2,091
B8k 3p4W BHEL-RT( 73 E75(FA7E) 3P 100AT/21P & 1.6T 219 2,184
BR%= 3p4W BHAEI R EFE(BB%E) 3P 100AT/23P & 1.6T 219 2,402
B8k 3p4W BHEL-RT( /3 E75(HA7E) 3P 100AT/27P & 1.6T 219 2,603
B8%= 3p4W BHAEL R EFE(BR%E) 3P 100AT/31P & 1.6T 219 2,822
§22E 3p4W BHEL-R (/3 E75(FA7E) 3P 100AT/35P & 1.6T 219 3,600
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/39P & 1.6T R|$ 3,966
§22E 3p4W BHEL R /3 E75(FA7E) 3P 100AT/11P &iE2.0T 219 1,617
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/15P &#2.0T 219 2,017
§22E 3p4W BHEL R /3 E75(FA7E) 3P 100AT/17P &i#E2.0T 219 2,233
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/19P &#2.0T 219 2,349
§22E 3p4W BHEL R /3 E75(FA7E) 3P 100AT/21P &i#E2.0T 219 2,449
B8%= 3p4W BHAEL R EFE(BR%E) 3P 100AT/23P &#2.0T R|$ 2,695
§22E 3p4W BHEL R /3 E75(FA7E) 3P 100AT/27P &i#E2.0T 219 2,926
B8z= 3p4W BHEL R EF8(BR%E) 3P 100AT/31P &#2.0T 219 3,157
B8%= 3p4W BHEI R EFE(BRAE) 3P 100AT/35P &#2.0T |9 4,043
B8%= 3p4W BHAEL R EF8(BR%E) 3P 100AT/39P &#2.0T 219 4,543
B8%= 3p4W BHEL R EFE(BRAE) 3P 100AT/11P H#E1.2T |9 3,127
B8%= 3p4W BHAEL R E#F8(BR%E) 3P 100AT/15P H#E1.2T 219 3,706
B8%= 3p4W BHEI R EFE(BRAE) 3P 100AT/17P H#E1.2T |9 4,169
B8%= 3p4W BHEL R E#F8(BR%E) 3P 100AT/19P H#E1.2T 219 4,631
B8k 3p4W BHEL RT3 E78(FA7E) 3P 100AT/21P H#g1.2T 219 5,095
B8%= 3p4W BHEL R EFE(BR%E) 3P 100AT/23P H#E1.2T 219 5,790
B8%= 3p4W BHEI R EFE(BRAE) 3P 100AT/27P H#E1.2T Rl 6,484




B8k 3p4W BHEL R /> E7FE(HA7E) 3P 100AT/31P H#81.2T 219$ 7,295
B8%= 3p4W BHAEI R EFE(BR%E) 3P 100AT/35P H#1.2T 2|94 8,105
B8k 3p4W BHEL RT3 E75(HR7E) 3P 100AT/39P B 1.2T 219 8,916
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/11P & 1.6T 2 1$ 1,444
§8%= 3p4W BHEL RN EFE(FE%E) 3P 100AT/15P & 1.6T 219 1,799
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/17P & 1.6T 2 1$ 1,998
§8%= 3p4W BHEL RN EFE(FE%E) 3P 100AT/19P & 1.6T 219 2,091
B8%= 3p4W BHEI RN EFE(FE4E) 3P 100AT/21P & 1.6T 2 1$ 2,184
B8%= 3p4W BHEL RN EFE(FE%E) 3P 100AT/23P & 1.6T 219 2,402
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/27P & 1.6T 2 1$ 2,603
B8%= 3p4W BHEL RN EFE(FE%E) 3P 100AT/31P & 1.6T 219 2,822
BR%= 3p4W BHEI RN 2 EFE(FE4E) 3P 100AT/35P R&#1.6T F |9 3,600
§8Z= 3p4W BHEL R D EFE(FE%E) 3P 100AT/39P & 1.6T 213 3,966
B8%= 3p4W BHEI RN 2 EFE(FE4E) 3P 100AT/11P R&#2.0T 2194 1,617
§8Z= 3p4W BHEL R EFE(FE%E) 3P 100AT/15P &#2.0T 213 2,017
B8%= 3p4W BHEI RN EFE(FE4E) 3P 100AT/17P &#2.0T 2194 2,233
§8Z= 3p4W BHEL R D EFE(FE%E) 3P 100AT/19P &#2.0T 213 2,349
B8%= 3p4W BHEI RN 2 EFE(FE4E) 3P 100AT/21P R&#2.0T 219 2,449
§8Z= 3p4W BHEL R EFE(FE%E) 3P 100AT/23P &#2.0T 213 2,695
BR%= 3p4W BHEI RN 2 EFE(FE4E) 3P 100AT/27P R&#2.0T 2194 2,926
B22E 3p4W BHEL R /3 E75(FE78) 3P 100AT/31P &i#E2.0T 213 3,157
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/35P &#2.0T 219 4,043
B22E 3p4W BHEL R /3 E75(FE78) 3P 100AT/39P &iE2.0T P IS 4,543
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/11P H#E1.2T 219 3,127
B22E 3p4W BHEL R /3 E75(FE78) 3P 100AT/15P B 1.2T 213 3,706
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/17P H#E1.2T 219 4,169
§22E 3p4W BHEL R /3 E75(FE78) 3P 100AT/19P B 1.2T 2193 4,631
B8%= 3p4W BHEI R EFE(FE4E) 3P 100AT/21P H#E1.2T F |9 5,095
§22E 3p4W BHEL R /3 E75(FE78) 3P 100AT/23P H#E1.2T 213 5,790
BBz 3p4W BHEL RN D ERE(FEFE) 3P 100AT/27P B#1.2T 219 6,484
B82E 3p4W BHEL R EFA(FE#E) 3P 100AT/31P B#1.2T 219 7,295
B8%= 3p4W BHEI R 2 EFE(FE48) 3P 100AT/35P H#E1.2T 219 8,105
B82E 3p4W BHEL R EFA(FE#E) 3P 100AT/39P B#1.2T 219 8,916
RE FHNEMR BE

& Bl | EEEECKRK)
RE R EM(ET-AR%E) 7P REFHO0.8T H1$ 263
RE RN EM(EI-ARFE) OP R#H0.8T PN IS 307
Az R HEHRMEN-AAFE) 11P R#E0.8T H1$ 351
Rz RN EM(I=IN-AA%E) 13P FRFHO0.8T 23 394




BRE A ERM(IETV-AF%E) 15P F&F0.8T 19 481
RzE RN EM(EI-AR%E) 17P FZ#H0.8T AN 569
fRE 0 EM(1ET-AFFE) 5P RE\E1L.2T 19 366
BRZE FER(IRTV-AF%) 7P RE1L.2T 219 398
iR R0 EM(=I-08%) 9P FRiF1.2T 19 445
fRZE FoER(IRV-AF%E) 11P FZF1.2T 219 494
RE F 0 ER(IEV-AA%E) 13P F/F1.2T 19 540
fRZE FoER(IRV-AF%E) 15P F/F1.2T 219 636
Rz R EFE(METN-0A%) 17P BH1.2T 19 794
BRZE 0 EFM(IRT-AF%E) 5P &RE1.6T 219 509
fRE 0 EM(IRT-AF%E) 7P RE1.6T 19 572
fRZE 0 ER(I=T-AF%E) 9P &RiE1.6T 219 636
BREE R EF(RIN-AAFE) 11P B 1.6T 219 716
fRE F o ER(I=z-AF%E) 13P FZF1.6T 219 795
RZE RN EM(EI-AR%E) 15P Ei#1.6T 219 900
fRE FnER(Iez-AF%E) 17P FZF1.6T 219 1,005
BREE RN ER(I=ET-1E%) 3P REH0.8T 219 197
RE RN EBM(IEIV-HEFE) 5P &HFHO0.8T 219 220
BREE RN ER(I=EI-1E%) 7P RiEH0.8T 219 263
RE RN BR(EIV-1EFE) 9P RFHO0.8T 219 307
IRE R EM(EI-[EFE) 11P FRiF0.8T 1% 351
fRE FlnER(ez-ME%8) 13P F&F0.8T 219 394
RE RN EBR(IEIN-MEF) 15P FFHO0.8T 1% 481
RZE RN EBRH(I=IN-EFR) 17P FFHO0.8T 219 569
RE RN BR(EIV-IEFE) 5P BFH1.2T H1$ 366
RE RN BHR(EI-1EF) 7P BEF1.2T 219 398
RE RN BR(EI-IEFE) P BFH1.2T 1% 445
RZE RN EBR({A=I-ERM) 11P FRFH1.2T 219 494
BRE R BR(IRT-1EHE) 13P RE1L.2T 1% 540
RZE RN EBRHR(A=I-EHR) 15P FRFH1.2T 219 636
RE R EM(I=I-BER) 17P F[FH1.2T 219 794
RZE RN BHR(EI-1EFE) 5P REF1.6T 219 509
RE Rl ER(IEI-1EF) 7P F/F1.6T 219 572
RE RN BHR(EI-1EFE) P REF1.6T 219 636
RE R EM(I=I-ER) 11P FFl.eT 219 716
RZE RN EBRHR(A=I-EHR) 13P FREFl.eT 219 795
RE R EM(I=N-EF) 15P FFHl.eT 219 900
RE FAnBR(IEz-1E%) 17P 3 ﬁl 6T 219 1,005

BRE £ n

£/ BE




TR B | BEERBCRN)
BRZE £ EM(1=T-AF%) 5P BE(304) -0.8T 19 491
RE RN EM(MET-APFE) 7P B#(304) -0.8T AN 597
iR T EM(=I-0E%) 9P HiE(304) -0.8T 19 704
RE RN EMMET-APFE) 11P 5iE(304) -0.8T AN 810
RZE RN EM(IET-AAFE) 13P B#(304) -0.8T 19 917
iRE R EM(IETN-AEFE) 15P BE(304) -0.8T A I 1,024
RE RN EMMET-AEFE) 17P B#E(304) -0.8T 19 1,130
Rz R EM(I=TU-0A%E) 5P B#(304) -1.0T 219 683
RE RN EMMET-AEFE) 7P B#(304) -1.0T 19 765
Rz R EM(I=TU-0A%E) 9P B (304) -1.0T 219 896
RE RN EM(ET-AE%E) 11P 8#E(304) -1.0T 19 1,002
fRZE RN BM(IETV-0A%E) 13P B#E(304) -1.0T 19 1,109
BREE R EFE(RTU-AAFE) 15P B#(304) -1.0T RS 1,215
RZE RN EBM(EIV-0AFE) 17P B#E(304) -1.0T K4 1,322
RE RN EM(ET-AEFE) 5P B#(430) -0.8T 219 405
RE RN EMMET-APFE) 7P B#(430) -0.8T 219 469
BREE R EFE(RTU-AAFE) 9P B#(430) -0.8T 219 533
RE RN EBM(=IV-0AFE) 11P B#(430) -0.8T 219 597
RE RN EM(EIV-AAFE) 13P B#(430) -0.8T 219 661
iREE £ B (=20-AB%E) 15P B#(430) -0.8T 219 747
RE RN EMMET-AE%E) 17P B##(430) -0.8T 1% 853
RZE RN BM(IEI-MEFE) 5P B#(304) -0.8T 219 491
iRz ‘Eﬂﬁ%%ﬁ(’fm‘b [EF8) 7P B#(304) -0.8T 1% 597
RZE RN BMH(IEI-FEFE) 9P B#(304) -0.8T 219 704
iRz -Efbﬁj\i'-é%ﬁ(’fm_t [E#8) 11P |B#(304) -0.8T 1% 810
RZE RN BMH(IEI-EFE) 13P B#E(304) -0.8T 219 917
BRE RN EH(E _C 5#8) 15P 59#(304) -0.8T 219 1,024
RZE RN BMH(IEI-EFE) 17P B#E(304) -0.8T Fl$ 1,130
iRz -Efbﬁj\i'-é%ﬁ(’fm_t [E#8) SP B#(304) -1.0T 1% 683
BB ‘Eﬂﬁ%%ﬁ(’fa‘b [E48) 7P 5#8(304) -1.0T 219 765
RE RN BH(EI-EFE) 9P B#(304) -1.0T 219 896
BB ‘Eﬂﬁ%ﬁ%ﬁ(’fa‘b fE#8) 11P B8#(304) -1.0T 219 1,002
IR R D EF(T=E-15F8) 13P B#(304) -1.0T RS 1,109
BB ‘Eﬂﬁ%%ﬁ(’fa‘b [E48) 15P B8 (304) -1.0T Fl$ 1,215
RE RN BH(EI-EFE) 17P B#(304) -1.0T 219 1,322
RE K3l ﬁ%f%ﬁ(’fa‘b 5#8) 5P B#(430) -0.8T 219 405
BREE RN ER(IRI-MEFE) 7P B#E(430) -0.8T 219 469
RE K3l ﬁ%%ﬁ(’fa‘b [E48) 9P B#8(430) -0.8T 219 533
RE RN ERH(=I-EFE) 11P B##(430) -0.8T AN 597




R rHEMR(TELI-ME ) 13P Bi#(430) -0.8T 2|19 661
Rz R EFE(ET-1E%E) 15P B#(430) -0.8T 219 747
B rHEHR(EIN-MEE) 17P B (430) -0.8T 219 853
BR3E CNE RN EF 100AT

mA Bl | EEEECKRK)
B82E 13W CNEL-RH 7> EFE(FE%E) 2P 100AT/20P EiE1.6T 219 2,376
B8ZE 13W CNE R EFE(FE%E) 2P 100AT/24P Ei#E1.6T 2194 2,568
B8ZE 1p3W CNEL-RH /> EFE(FA%E) 2P 100AT/28P EiF1.6T 219 2,849
B8zE 1p3W CNELI-RI( 7> EFE(BRE) 2P 100AT/32P Ei#E1.6T 219 3,042
B8ZE 1p3W CNEL-RH 7> EFE(FE%E) 2P 100AT/20P i 2.0T 219 2,657
B8ZE 13W CNEI R EFE(FE%E) 2P 100AT/24P Ei#2.0T 2194 2,888
B8ZE 13W CNEL-RH > EFE(FE%E) 2P 100AT/28P i 2.0T 219 3,196
B8ZE 13W CNEI R EF6(FH%E) 2P 100AT/32P Ei#2.0T K1$ 3,504
BBz 1p3W CNEIR o EFE(FEHE) 2P 100AT/20P FE#1.6T 219 2,376
BBz 1o3W CNEI R D EFE(FEFE) 2P 100AT/24P E#E1.6T K1$ 2,568
BBz 1p3W CNEIR o EFE(FEHE) 2P 100AT/28P E#E1.6T 219 2,849
BBz 1o3W CNEI R EFE(FEFE) 2P 100AT/32P E#E1.6T K1$ 3,042
BBz 1p3W CNEIR o EFE(FEFE) 2P 100AT/20P F£#2.0T 219 2,657
BBz 1o3W CNEIR D EFE(FEFE) 2P 100AT/24P E#2.0T K1$ 2,888
BB 1p3W CNEIR o EFE(FEHE) 2P 100AT/28P £ 2.0T 219 3,196
BR2E 1p3W CNE-R /> EFE(FE7E) 2P 100AT/32P EiE2.0T R1$ 3,504
B8ZE 3p4W CNEL-RH /> EF8(FE%E) 3P 100AT/21P Ei#E1.6T 2193 2,603
B2E 3p4W CNEL -~ EFE(FA7E) 3P L00AT/25P & #1.6T R1$ 2,823
BRZE 3p4W CNEL-RH /> EFE(FE%E) 3P 100AT/29P FEiE1.6T Fl$ 3,600
B82E 3p4W CNEL < EFE(FF7FE) 3P L00AT/33P & #1.6T R1$ 3,966
B8zE 3p4W CNELI-RT( 7> EFE(BRE) 3P 100AT/21P EiE2.0T 219 2,926
2= 3p4W CNEL < EFE(FH7FE) 3P L00AT/25P & #2.0T R1$ 3,157
B8zE 3p4W CNELI-RT( 7> EFE(BHE) 3P 100AT/29P EiE2.0T 219 4,043
B82E 3p4W CNEL < EFE(FF7FE) 3P L00AT/33P & #2.0T R1$ 4,543
BRz= 3p4W CNEIR o EFE(FE4E) 3P 100AT/21P & 1.6T 219 2,603
BRE= 3p4W CNEIRI D EFE(FE4E) 3P L00AT/25P E#E1.6T 293 2,823
BRz= 3p4W CNEIR D EFE(FE4E) 3P 100AT/29P &= 1.6T Fl$ 3,600
BRE= 3p4W CNEIRI D EFE(FE4E) 3P 100AT/33P E#E1.6T 293 3,966
BRz= 3p4W CNEIR 2 EFE(FE4E) 3P 100AT/21P F&#2.0T 219 2,926
BRE= 3p4W CNEIRI 1 EFE(FE4E) 3P L00AT/25P £ #2.0T 293 3,157
BRz= 3p4W CNEIR 2 EFE(FE%E) 3P 100AT/29P & 2.0T 219 4,043
BREE 3p4W CNEIRI D EFE(FEHE) 3P 100AT/33P F£#2.0T 219 4,543

BB CNE RN EEFE 250AT
e Bl | EEEEB(CKR)




B8%= 1p3W CNEIRTN 7 EFE(BRFE) 2P 250AT/16P £ 2.0T R|$ 4,636
BRZE 1p3W CNELRI( ) EFE(ARFE) 2P 250AT/22P R 2.0T 2 |$ 5,168
BR%E 1p3W CNEIRT 2 EFE(BRFE) 2P 250AT/28P £ 2.0T 219 6,004
BRZE 1p3W CNELRI( ) EFE(FRFE) 2P 250AT/34P R 2.0T 2|9 6,992
BB%E 1p3W CNEIRT 2 EFE(BRFE) 2P 250AT/40P E£#2.0T 219 7,980
BRZE 1p3W CNER D EFE(FEFE) 2P 250AT/16P Ei#2.0T 2 |$ 4,636
BREE 1p3W CNERN D EFE(FEFE) 2P 250AT/22P FiE2.0T R|$ 5,168
BRZE 1p3W CNERI D EFE(FEFE) 2P 250AT/28P E&#2.0T 2 |$ 6,004
BREE 1p3W CNERI 7 EFE(FEFE) 2P 250AT/34P EiE2.0T 219 6,992
BRZE 1p3W CNELR D EFE(FEFE) 2P 250AT/40P F&i2.0T 2|9 7,980
BREE 1p3W CNEIRT 2 EFE(BRFE) 2P 250AT/16P B 1.2T R|$ 7,832
BazE 1p3W CNEL-RI( 7> EFE(BR%E) 2P 250AT/22P B 1.2T 2 |$ 8,624
BB 1p3W CNEIRI 7 EFE(BRFE) 2P 250AT/28P H#1.2T 219 9,592
BazE 1p3W CNEL-RI( /> EFE(BR%E) 2P 250AT/34P B 1.2T H1%$ 10,604
BBz 1p3W CNEIRI 2 EFE(BRFE) 2P 250AT/40P B 1.2T 219 11,616
BREE 1p3W CNEL~N D EFE(FEFE) 2P 250AT/16P B#1.2T 2 |$ 7,832
BREE 1p3W CNERIN 7 EFE(FEFE) 2P 250AT/22P B#1.2T 2|$ 8,624
BRZE 1p3W CNELRN ) EFE(FEFE) 2P 250AT/28P B8 1.2T 2 |$ 9,592
BREE 1p3W CNERIN D EFE(FEFE) 2P 250AT/34P B 1.2T 219 10,604
BREE 1p3W CNEL~N D EFE(FEFE) 2P 250AT/40P B#81.2T H1%$ 11,616
BR%= 3p4W CNEIRI 2 EFE(BRFE) 2P 250AT/17P F&#2.0T 219 4,636
BRZE 3p4W CNEL-RI( 7> EFE(BA%E) 2P 250AT/23P EiE2.0T 2 |$ 5,168
BR%= 3p4W CNEIRI 2 EFE(BRFE) 2P 250AT/29P &£ 2.0T 19 6,004
BR2E 3p4W CNEL-RI( 7> EFE(BA%E) 2P 250AT/35P EiE2.0T 2 |$ 6,992
BRx= 3p4W CNEIRI 2 EFE(BRFE) 2P 250AT/41P F&#2.0T 19 7,980
BRZE 3p4AW CNELR D EFE(FEFE) 2P 250AT/17P Z&i2.0T 2 |$ 4,636
BREZE 3p4W CNELRI D EFE(FEFE) 2P 250AT/23P Ei#2.0T R |$ 5,168
BRZE 3p4AW CNELR D EFE(FEFE) 2P 250AT/29P E&#2.0T 2 |$ 6,004
BREZE 3p4W CNELRI 7 EFE(FEFE) 2P 250AT/35P &i#2.0T 19 6,992
BRZE 3p4AW CNELR D EFE(FEFE) 2P 250AT/41P Zi2.0T 2 |$ 7,980
BRz= 3p4W CNEIRN 2 EFE(BRFE) 2P 250AT/17P B#E1.2T 2|$ 7,832
BRE= 3p4W CNEIRTI D EFE(BRAE) 2P 250AT/23P B#1.2T 219 8,624
BRz= 3p4W CNEIRF 2 EFE(BRFE) 2P 250AT/29P H#E1.2T 219 9,592
BRE= 3p4W CNEIRT 7 EFE(BRAE) 2P 250AT/35P H#1.2T 219 10,604
BRz= 3p4W CNEIRN 2 EFE(BRFE) 2P 250AT/41P B#E1.2T 219 11,616
BRZE 3p4W CNE R D EH(HE7) 2P 250AT/17P B#1.2T 219 7,832
BRZE 3p4W CNELR EFE(FEFE) 2P 250AT/23P B#1.2T 2 |$ 8,624
BREE 3p4W CNELRI( ) EFE(FEFE) 2P 250AT/29P B#1.2T RS 9,592
BRZE 3p4W CNELR 7 EFE(FEFE) 2P 250AT/35P B#1.2T 219 10,604
BREZE 3p4W CNEL RN EFE(FEFE) 2P 250AT/41P H#E1.2T Rl 11,616




BRZE SNEI R\ 53 EEF 125AT

m & B | EEERCRK)
BBE= 1p3W SNEIRT 2 EFE(BRFE) 2P 125AT/20P E#1.6T R|$ 2,926
BRZE 1p3W SNERI( ) EFE(AHFE) 2P 125AT/24P R 1.6T 2 |$ 3,215
BB%= 1p3W SNEIRT 2 EFE(BRAE) 2P 125AT/28P FE#1.6T 219 3,589
BRZE 1p3W SNERI( ) EFE(AAFE) 2P 125AT/32P A& 1.6T 2 |$ 3,874
BRE= 1p3W SNEIRT 2 EFE(BRFE) 2P 125AT/20P F£#2.0T R|$ 3,208
BRZE 1p3W SNERI( ) EFE(AHFE) 2P 125AT/24P R 2.0T 2|9 3,535
BRE= 1p3W SNEIRT 2 EFE(BRAE) 2P 125AT/28P £ 2.0T 219 3,935
BRZE 1p3W SNE R EFE(AAFE) 2P 125AT/32P & 2.0T 2|9 4,336
BR%= 1p3W SNEIRT 2 EFE(BRFE) 2P 125AT/20P H#1.2T 219 6,304
B8k 1p3W SNEL-RTU ) EFE(BRE) 2P 125AT/24P B 1.2T 2 |$ 7,340
BBz 1p3W SNEIR 2 EFE(BRFE) 2P 125AT/28P H#1.2T 2|$ 8372
B8k 1p3W SNEL-RI( /) EFE(BRE) 2P 125AT/32P B 1.2T 2 |$ 9,403
BRZE 1p3W SNE R EFR(KE78) 2P 125AT/20P FEHE1.6T 2|$ 2,926
BRZE 1p3W SNELRT ) EBFE(KE7FE) 2P 125AT/24P EE1.6T 2 |$ 3,215
BREE 1p3W SNE R D ER(KE78) 2P 125AT/28P FEHE1.6T 19 3,589
BRZE 1p3W SNEL R ) EFE(KE7E) 2P 125AT/32P EE1.6T 2 |$ 3,874
BREE 1p3W SNE R EF(KE78) 2P 125AT/20P FEE2.0T 2|$ 3,208
BRZE 1p3W SNELRT ) EFE(KE7FE) 2P 125AT/24P E§E2.0T 2 |$ 3,535
BRZE 1p3W SNER ) EF(KE78) 2P 125AT/28P FE#E2.0T 19 3,935
BRZE 1p3W SNEL R EF(KE7FE) 2P 125AT/32P E§E2.0T 2 |$ 4,336
BREE 1p3W SNE R ) EF(KE78) 2P 125AT/20P B#E1.2T 19 6,304
BRZE 1p3W SNEL R EFE(IE7E) 2P 125AT/24P B#E1.2T 2 |$ 7,340
BREE 1p3W SNELR ) EF(KE78) 2P 125AT/28P B#E1.2T 2|$ 8372
BRZE 1p3W SNEL R EF(IE7E) 2P 125AT/32P B#1.2T 2 |$ 9,403
BRz= 3p4W SNELRF 7 EFE(BR%E) 3P 125AT/21P &#E1.6T 19 3,435
B22E 3p4W SNEL-RT( /) EFE(BR%E) 3P 125AT/25P EiE1.6T 2 |$ 3,747
B8%= 3p4W SN EFE(BR%E) 3P 125AT/29P & 1.6T 2|$ 4,613
BRZE 3p4W SNEL £ ) EFE(AHAE) 3P 125AT/33P FE1.6T 219 5,075
B8z= 3p4W SN EFE(BR%E) 3P 125AT/21P &#2.0T 2|$ 3,758
BR%= 3p4W SNELRT 7 EFE(ARAE) 3P 125AT/25P £ 2.0T R|$ 4,081
B8z= 3p4W SN EFE(BR%E) 3P 125AT/29P &#2.0T 219 5,059
BRZE 3p4W SN ) EFE(AHAE) 3P 125AT/33P FiE2.0T 219 5,652
B8z= 3p4W SNELR 2 EFE(BR%E) 3P 125AT/21P H#E1.2T 2|$ 7,435
B22E 3p4W SNEL-RT( /) EFE(BR%E) 3P 125AT/25P B 1.2T 219 8,352
B8z= 3p4W SNELR 7 EFE(BR%E) 3P 125AT/29P B 1.2T 2 |$ 9,267
B22E 3p4W SNEI-RT( 7> EFE(BR%E) 3P 125AT/33P Hi#E1.2T R1$ 10,184
BRZE 3p4AW SNEL R ) EF(KE78) 3P 125AT/21P EE1.6T 2|9 3,435




\

B8z= 3p4W SNEL R EBFE(FE4E) 3P 125AT/25P &#E1.6T 1% 3,740
BR%= 3p4W SNEIRT D EFE(FEFE) 3P 125AT/29P E#1.6T 219 4,613
BRz= 3p4W SNEI R EFE(FE%E) 3P 125AT/33P &#E1.6T 21$ 5,075
BR%= 3p4W SNELR D EFE(FEHE) 3P 125AT/21P F£#2.0T 219 3,758
BRz= 3p4W SNEI R EFE(FE%E) 3P 125AT/25P & #2.0T 21$ 4,081
BR%= 3p4W SNELRI D EFE(FEHE) 3P 125AT/29P £ 2.0T 219 5,059
BRz= 3p4W SNEI R EFE(FE%E) 3P 125AT/33P & #2.0T 1% 5,652
BR%= 3p4W SNELRI D EFE(FEHE) 3P 125AT/21P BH#E1.2T 219 7,435
B8z= 3p4W SNEL R EFE(FE%E) 3P 125AT/25P B#E1.2T 21% 8,352
BR%= 3p4W SNELRI D EFE(FEHE) 3P 125AT/29P H#E1.2T 219 9,267
BRz= 3p4W SNE R EFE(EFE) 3P 125AT/33P R 1.2T 21% 10,184
B2 3= &) BA%E

B B | BESEEGR)

BaZE 8 /IRHFE6~ 10 5 (&) 2067 Qs 271
BB2E B) /JRBFE1 010 5 (&) BH0.6T 2] 340
B B HARFE1IR*1R*5~ (1) £i50.6T 219 340
BR2E ) 1BHFEC 2 8~ 5T (&) BH0.6T 2] 366
BA2E B /)BRAER 225 (&) BH#0.6T EHIE 458
BR2E &) )BHAEID 202+ 51 (1) BH0.6T 2] 458
BA2E B /)BRFER 145 (&) BH#0.6T EHIE 485
BR2E B 1IAHAER 1045 (1) BH#0.6T =R 485
Ba2E B /)BRAER 175 (&) BH#0.6T I 572
BR2E B HIRHAER 1- 751 (1) BH0.6T =R 572
BAZE ) )BHFE 5T (B) BHO0.6T I 663
BRZE ) J)BHFE I 5T (1) 06T =R 663
BAZE B /IRBFER 206 (&) 2067 I 898
BB2E ) IRBFE R 20 6T (1) BHE0.6T =R 898
fBZE B HARFE2R*2R*6~ (&) £i50.6T 21% 1,143
BB2E B) /IRBFE2I 206 (1) BHO0.6T 2 s 1,143
BB2E 8 /1RBFE6~ 10 6 (&) BHE16T 2] 413
BB2E B) JIRBFE1 010 6~ (&) BHE16T Qs 599
BAZE B HIRHRE1I0 10 6T (1) BH#E1.6T 2] 599
BA2E ) /IBHFEI 2 8~ 6T (B) BHEL6T Qs 612
BA2E ) 1)RHREIR 2026 (&) BHEL.6T 2] 799
BR2E B 1)AHAEI 2026 (1) BHE1.6T Qs 799
BAZE B /)RR 1+ 04 6 (&) BHEL.6T 2] 844
BR2E B 1IAEAER 1046 (1) BHE1.6T EHIE 844
PAZE B /BRI 1+ 76 (&) BHE1.6T 2] 989
BA2E B HIBRAER 1R 76 (1) BHE1.6T I 989




BRZE B HRRBRFERF6~ (') F#EHl.eT 219 1,147
BRZE B IR+ R¥ 6~ (1) &#E1.6T Rl 1,147
BRZE EHRRRMRF 2R 6~ (H) &iE1.6T 19 1,462
BRE HAPBRF* 2R 6~ (=) RE1.6T 219 1,462
BRZE B OIRE2R*2R*6~ (H) B#E1.6T 19 1,861
RZE B AIRE2R* 2R 6~ (&) B#E1.6T 219 1,861
BRZE g HRRRER2*R2*5~ (H) Bi#0.6T 19 539
BRZE 2 ORRRE R 2*R2*5~ (=) BiE0.6T AN 539
BRZE g HRRRER1*R4*5~F(H) Bi#0.6T 19 574
BBz 2 ORRMER1*R4*5~ (=) HiE0.6T 219 574
BRZE g OB R1*R7*5~ (H) Bi#0.6T 19 672
BRZE F OB R 1 R7*5~ (=) B3#0.6T 219 672
BRZE B NRBRFR¥*5(H) B#0.6T 219 784
BRZE B AR+ R¥ 5 (=) B#0.6T 219 784
RE B AHRBRF*2R*6~ (H) B#E0.6T R|$ 1,064
RE B APBRF* 2R 6~ (1) B#0.6T 19 1,064
RZE B HIRE2R*2R*6~ (H) B#0.6T s 1,365
RZE B AHIRE2R*2R*6~1 (&) B#0.6T 219 1,365
BBz PhKENDFE

& B | BEERECRN)

BREE [hKENNFMR2*R2*5~r 8 #0.6T 219 918
BRZE BhKEN NAR1*R4*5~T 8##0.6T s 918
BRE [HKENNDMR1I*R7*5~r88#0.6T Rl 1,085
BRZE KB NBRFRF5EE0.6T HR|$ 1,258
BRZE BpKE DR F* 26~ Hi#0.6T Rl 1,702
BRZE KB NFE2R*2R*6~ B #0.6T HR|$ 2,615
BREE [HKENNAMR2*R2*5~r R E0.6T 219 539
BRZE BhKEN NAR1*R4A*5~F R 0.6T s 574
BREE [HKEN DRI R7*5~ R #E0.6T 219 672
BREE (KB NRRF*R¥*5 &i#0.6T AN 784
BRZE BhKE NRRF*2 6~ FRiEH0.6T 219 1,064
BRZE KB NFE2R* 26~ AR #E0.6T RS 1,365
BRE KB NBRFR¥F6~FFH1.6T 219 1,361
BREE (KB NRRF 2R 6~ R 1.6T RS 1,703
BRZE BhKE NAE2R* 26~ R 1.6T 219 2,167
BREE Bh/KE NFE2R*2R¥+7~F BE1.6T s 2,631
BRZE BhKE NA2R* 3R 7~ R 1.6T |9 3,095
BREE [HKEN NFE2RF*3R3*7~F RE1.6T s 4,127
BREE KB NF2RF4R7T I RiEL6T Rl$ 4,875




E Bhok#8

J3)Y

Ol | O] AN | NN [N Bl NN BNe)
NSNS NS O | N[O |~
N[N ||| < ~|elmn|wn
NN |
|| A | A || A A | A || S
ol oo ol o ool ol |
— =
NN
— |
| 3 |
NN
==
{00 | {7 | &M | &N
Il I
A A BABABAN: NN |Y
=) E=RE=YE=] f=] K=
(I la a4 He | e | & | &
et b e b e b e o | ~—~~| ]| ]|
RIRIB|R|E|E e | 6P | B | 5
IUGY BUGYE BUGYE BUGY
N N N N S o | {im | 4 | 4
ol ol Rol o ol Rl | em | em | Em
—H|N|m|S|[ih]|© e | £F | BE | 6
ET T T T ST T T T T T HHL | HEE | A | 4
T | AT | AR | T | AT | T | tRIT | AT |
ROZ | ROZ | ROZ | ROZ | ROZ | ROZ ROZ | ROZ | ROZ | ROZ
O | O | O | N | OON | OO O | O | OON | ON




